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EBTEDAYEE SCHOLARSHIP EXAMINATION-2025
SUBJECT : ENGLISH
Y : 5! wo fif 5 -d00
U Read the text/dialogue and answer the questions 1,2 and 3.
[This text/dialogue will be given from the text book 'English for Today' class V]
Part—A : Reading : 20 Marks

1. Multiple choice questions. 1x5=5
2. Answer the following questions in sentence(s). 5 short questions will be given and students.pwi]l have to answer

all of them. 2%x5=10
3. Fill in the blanks with appropriate words from the text. Lxs=8§

Part-B : Vocabulary & Grammar : 40 Marks -
4. Write down the meaning of the following words in Bangla. 1x10=10
5. Make sentences with the following words. 1x10=10
6. Match the given words to their meanings. 1x5=35
7. Ildentify the Parts of Speech of the underlined words. I1x5=5
8. Make WH-questions from the given statements. I1x5=5
9. Rewrite the sentences using Punctuation & Capitalization marks. Lxs =5
Part—C : Writing : 40 Marks

10. Write a Dialogue. 5
11. Write a Paragraph. 10
12. Write a simple personal Letter. 10
13. Write an Essay. 15

Total =100



Ebtedayee Scholarship Examination-2025

Class-Five

Subject: English SAMPLE QUESTION

Marks-100
Time: 2 hours 30 minutes.

[N.B Answer all the questions. The figures in the right margin indicate full marks.]

Part A- Reading Test
Marks-20
Read the following text carefully and answer the questions no. from 1,2 and 3:

Along time ago, when Raju was in class 5, there was a fire in his School. Everyone. Everyone was very
afraid, but no one panicked. The teachers helped the students to leave the building quietly and safely.
Soon the firefighters came and put out the fire. Raju watched the firefighters from the school yard. He
thought about the fire and the firefighters for a long time. After College Raju joined &' volunteer fire
department. As a volunteer, he didn't get any money for his work. But Raju didn't mind.

1.Choose the best answer: 1x5=5
(a) Raju was in class- (i) five (i) six  (iii) three (iv) Seven
(b) Everyone was very -- (i) happy (i) afraid (i) Panicked (iv) joyful

(C) Raju watched the firefighters from the School- (i) building (ii) yard (iii) classroom (iv) rooftop
(d) Raju joined a volunteer- (i) Police department (ii) fire department (iii) health department.
(iv) education department.

(e) Raju didn't get any for his work - (i) money (ii) food (iii) Reward (iv) help

2. Answer the following questions: 2x5=10

(a) What happened in Raju's school when he was in class five?
(b) How did the teachers help the students during the fire?

(c) Who came to put out the fire?

(d) What did Raju think about for a long time?

(e) Where did Raju join after his college?

3. Fill in the blanks with appropriate words from the text: 1x5=5

The teachers (i) the students to leave the building (ii) and (iii) . Soon the
firefighters (iv) and put out the (v) .




Part B- Vocabulary and Grammar
Marks-40

4. Write the meaning of the following words: 1x10=10

Active, Body, Celebrate, Close , Delicious, Early, Family, Gift, Treasure, Kitchen

5. Make meaningful sentences with the following words: 1x10=10

Happy, Story, Beautiful, Animal, Forest, Enjoy, Job, Great, Friend, Hungry.

6. Match the given words to their meanings: 1x5=5
Nap Quick
Make Beautiful
Fast Sleep
Nice Begin
Start Prepare r
7. Identify parts of speech of the fallowing words: h 1X5-5

Saikat is in class 5. He is a good student. He _wants to improve his English, so he watches
cartoons on TV everyday.

8. Make WH questions from the given statements. 1x5=5

(a) The hare was walking in the forest.
(e) The hare saw the tortoise.

(c) The tortoise was walking slowly.
(d) The hare went to sleep.

(e) He slept for an hour.

9. Re-write the sentences using punctuation marks and capital letters where necessary: 1x5=5

(i) what is your favorite colour

(ii) today is monday

(i) would you lend me a pencil
(iv) i get up at 10 o'clock on friday
(v) who is your favorite teacher

Part C- Composition
Marks-40

10. Read the following situation and make a dialogue on it: 1x5

You need help to find a hospital nearby. Now write a dialogue between you and your friend.
11. write a paragraph about ‘Your Madrasah’. 10
12. write a letter to your father asking some money to buy books. 10

13. write an essay on 'Student Life ‘. 15
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